ANTALNVUIY

2x+4)(2x+ 1)

(9% — 9x — 9)(5x + 9)

(5x — 9)(6x + 3)

(2% — 8)(6x +2)

6— 7 (2x—7)

Jun:

(3% + 2)(3x +2)

(2 - 2%)(9x + 1)

(1+ 7% (6x— 8)

(8% + 9x + 9)(6x — 4)

9+ ) (x—8)
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ASLLUU:




QAdalE

fia: Suii: ATUUY:
(2x+ 4)(2x + 1) (3x% +2)(3x +2)
A% + 10x + 4 0 + 652 + 6x + 4
(9% — 9x — 9)(5x + 9) (2—2x)(9x + 1)
45x° + 36x% — 126x — 81 —18x* + 16x+2
(5x— 9)(6x + 3) (1+ 7% (6x — 8)
30x% — 39x — 27 4% — 56x° + 6x— 8
(2x% — 8)(6x+2) (8% + 9x + 9)(6x — 4)
122 + 45> — 48x — 16 483 + 22x* + 18x — 36
6— 72 (2x—7) 9+ 9)(x— 8)
—14x%° + 49x% + 12x— 42 % — 63x— 72
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